B EHE— SR E
1. If A ={2,8}, function g: A - R defined by g(x) = x + 3, find the domain, codomain and range of g
HA={28) B g:A-> RTEXhg(x) =x+ 3, R glEXIE, MREHMEE

D, = {2,8},R*,R, = {5,11}
2. If f(x) = x% + 4 find the domain and range of f

ERf(x) =x*+4, KfH9ESEHMEE

Df = {x|x ER}L, R = {yly ER,y = 4}

3. [Iffunction f: Rt — R defined by f(x) = 3x? + 2, find the domain and range of f
EHRES R > R EXH f(x) = 3x% + 2, RfAIESCHMEE

Df = R+,R,Rf = [2,00

4. If f(x) = vx — 2, find the domain and range of f
B f(x) = Vx — 2, KfEYE SCHANE

Df ={x|x ER,x 22,ERr ={y|ly ER,y = 0}
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5. If f(x) = +/x + 3, find the domain and range of f
E& f(x) = Vx + 3, KfEYESCHAE

Dy ={x|x € R,x 2 =3}, Ry = {yly ER,y 2 0}
6. Iff(x) = x_iz' find the domain and range of f

B4 f(0) = =, K fHE XA

Dy ={x|x € R,x # 2},Rr = {yly € R,y # 0}

7. Ifglx) = ﬁ, find the domain and range of f

B4 g(x) = ——, KM E SCFIE

2x+1’

Dy ={x|x €R,x ;t%},Rg ={y|ly €R,y # 0}

8 Iffi[2,00) >R, f(x)=vx—2,f:R*U{0} >R, g(x) =x*+1
a. Find gf and the range of gf
b. Show that fg does not exist

Efi[2,0) >R, f(x)=vVx—2,f:RTU{0} > RT,g(x) =x*+1
a. KeR# gf Fgf MyEE
b. WIERR & f g N FTE

a.x =1,R;r =[1,0)
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10. Given f(x) = x2 —4x + 9,x € A. Find

a.
b.

d.
e

Set A such that 71 exist

The domain of f~1

The inverse function of f(x)

Sketch the graph of f(x) and y = f~1(x)

State the relationship between y = f(x) andy = f~1(x)

E%I]lf(x) =x%>—4x4+9,x€A K
AL EEAERRE T FE

b.

THA9E X

cf()BREE
d.IRLEf () fy = fF1(x)
ety =f(x) Fy=f1()HXR

a.{x|x € R,x = 2},b.Dp-1 = {x|x € R,x = 5}, c.f71(x) =2++Vx—5,x > 5,e.reflection in liney = x
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11. Function f and g defined by f(x) = x + 4, g(x) = 3x, find

a. fg(x)
b. gf(x)
c. f*(x)
d. g*(x)
REf Mg EXAf() =x+4,g(x) =3x, 3K

a. fg(x)
b. gf (x)
c. f2(x)
d. g*(x)

12. Given g(x) = x + 4, find gf (x) = x% + 3x + 5, find f(x)
E&g(x) =x+4K gf(x) =x* +3x +5, I 3K f(x)

13. Given f(x) = x + 3and gf(x) = x? — 4x — 5, find g(x)
BHf(x)=x+3Fgf(x) =x?>—4x—5,K g(x)
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a.3x+4,b.3x +12,c.x + 8,d.9x

x2+3x+1
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14. Function f and g are defined by f:x = 3x + p, g: x = 2x — 7 where p is a constant. Find the value of p if

a. f2(2) =10

b. gf(1) =9
B Mg EXHNfix>3x+p,g:x—>2x—7, BHp BEE KpEE
a. f2(2) = 10
b.gf(1) =9

a.—2,b.5
12
(ax+b)’
a. Thevaluesofaandb
b. The values of x for which f(x) = x

BHELS x> oy Bf(0) =372 = -6,

15. Given the function f:x — that f(0) = =3 and f(2) = —6, find

a.aflbiE
bR xB&ESf(x) =x

aa=1,b=—-4b.x=-2,x=6

16. The function f is defined by f:x — % Express in their simplest form f2(x), f*(x), 37 (x)

EHRBHS BXH fix > 2@, 400, £ (%)

1 1+x
__Jx’x’
x

1—x
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17. Given f(x) = 3x + 4, find f71(=5)
EAf() =3x+4, K f(-5)

18. Given g(x) = 5x — 3, find f ~1(x)
E&g(x) =5x-3,K (%)

19. Function f and g are defined on the set of real numbers by f:x —

a. State the value of k
b. Expressin similar form
i. gf
i ft
c. Evaluate fg=1(9)
B S g WEX TS x> =, x # k F gix > 4x +5.

a. kKk{E
b.3k
iogf
i ft

cit®E fg71(9)
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= x# kand g:x - 4x + 5.

x=2"

5x+2 | 3+2x

a.k = 2,bi. i.

i
x—2" x

x+3

,C.—3
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20. A function is defined by f:x = % + 1,x # 0, where a is constant. Given that 6£2(—=1) + f~1(2) = 0,

calculate the possible values of a

— BB EX A x —>§+ 1L,x#0, HaZEH BH6 21D +f1(2)=0,KaoJeEHE

a=-2,3
21. Given that g(x) = |4x — 7|, find the objects if the image is 5.
EMgx) = |4x — 7|, REEBHYERA S
x=3.x=7
22. Sketch the graph g(x) = |x — 1| + 2 for domain —3 < x < 6. Hence, find the range of g(x)
ZEg() =|x—1|+2, SEREX-3<x<6, i, KgC)MES
2<gx) <7
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